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1. (5 points) Solve using any method you choose:

5x(x + 1) = 100.

Solution. We can divide both sides by 5 to get

x(x + 1) = 20.

Simplifiying the left-hand side and bringing the 20 to the left-hand side gives

x
2 + x − 20 = 0.

This one actually factors as
(x + 5)(x − 4) = 0.

So x = −5 or x = 4 . Other routes to this solutions (using the quadratic formula or completing the

square) are possible.

2. (5 points) Solve the following equation using any method you choose. Write your answer(s) as complex
number(s) in standard form.

x
2 + 6x + 25 = 0.

Solution. We apply the quadratic formula with a = 1, b = 6, and c = 25:

x =
−6 ±

√

62 − 4(1)(25)

2(1)

=
−6 ±

√
36 − 100

2

=
−6 ±

√
−64

2

=
−6 ± 8i

2

= −3 ± 4i .


